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AF_AD_E6_B3_95_c86_503749.htm 1. Delighted by the reported

earnings for the first quarter of the fiscal year, it was decided by the

company manager to give her staff a raise.(A) it was decided by the

company manager to give her staff a raise(B) the decision of the

company manager was to give her staff a raise(C) the company

manager decided to give her staff a raise(D) the staff was given a raise

by the company manager(E) a raise was given to the staff by the

company manager2. A study commissioned by the Department of

Agriculture showed that if calves exercise and associated with other

calves, they will require less medication and gain weight quicker than

do those raised in confinement.(A) associated with other calves, they

will require less medication and gain weight quicker than do(B)

associated with other calves, they require less medication and gain

weight quicker than(C) associate with other calves, they required less

medication and will gain weight quicker than do(D) associate with

other calves, they have required less medication and will gain weight

more quickly than do(E) associate with other calves, they require less

medication and gain weight more quickly than3. Displays of the

aurora borealis, or “northern lights,” can heat the atmosphere

over the arctic enough to affect the trajectories of ballistic missiles,

induce electric currents that can cause blackouts in some areas and

corrosion in north-south pipelines.(A) to affect the trajectories of

ballistic missiles, induce(B) that the trajectories of ballistic missiles are



affected, induce(C) that it affects the trajectories of ballistic missiles,

induces(D) that the trajectories of ballistic missiles are affected and

induces(E) to affect the trajectories of ballistic missiles and induce4.

The golden crab of the Gulf of Mexico has not been fished

commercially in great numbers, primarily on account of living at

great depths2,500 to 3,000 feet down.(A) on account of living(B) on

account of their living(C) because it lives(D) because of living(E)

because they live5. The cameras of the Voyager II spacecraft detected

six small, previously unseen moons circling Uranus, which doubles

to twelve the number of satellites now known as orbiting the distant

planet.(A) which doubles to twelve the number of satellites now

known as orbiting(B) doubling to twelve the number of satellites

now known to orbit(C) which doubles to twelve the number of

satellites now known in orbit around(D) doubling to twelve the

number of satellites now known as orbiting(E) which doubles to

twelve the number of satellites now known that orbit6. As a baby

emerges from the darkness of the womb with a rudimentary sense of

vision, it would be rated about 20/500, or legally blind if it were an

adult with such vision.(A) As a baby emerges from the darkness of

the womb with a rudimentary sense of vision, it would be rated about

20/500, or legally blind if it were an adult with such vision.(B) A baby

emerges from the darkness of the womb with a rudimentary sense of

vision that would be rated about 20/500, or legally blind as an

adult.(C) As a baby emerges from the darkness of the womb, its

rudimentary sense of vision would be rated about 20/500. qualifying

it to be legally blind if an adult.(D) A baby emerges from the



darkness of the womb with a rudimentary sense of vision that would

be rated about 20/500. an adult with such vision would be deemed

legally blind.(E) As a baby emerges from the darkness of the womb,

its rudimentary sense of vision, which would be deemed legally blind

for an adult, would be rated about 20/500.7. While Jackie Robinson

was a Brooklyn Dodger, his courage in the face of physical threats

and verbal attacks was not unlike that of Rosa Parks, who refused to

move to the back of a bus in Montgomery, Alabama.(A) not unlike

that of Rosa Parks, who refused(B) not unlike Rosa Parks, who

refused(C) like Rosa Parks and her refusal(D) like that of Rosa Parks

for refusing(E) as that of Rosa Parks, who refused8. The rising of

costs of data-processing operations at many financial institutions has

created a growing opportunity for independent companies to

provide these services more efficiently and at lower cost.(A) The

rising of costs(B) Rising costs(C) The rising cost(D) Because the

rising cost(E) Because of rising costs9. There is no consensus on

what role, if any, is played by acid rain in slowing the growth or

damaging forests in the eastern United States.(A) slowing the growth

or damaging(B) the damage or the slowing of the growth of(C) the

damage to or the slowness of the growth of(D) damaged or slowed

growth of(E) damaging or slowing the growth of10. Galileo was

convinced that natural phenomena, as manifestations of the laws of

physics, would appear the same to someone on the deck of a ship

moving smoothly and uniformly through the water as a person

standing on land.(A) water as a(B) water as to a(C) water. just as it

would to(D) water, as it would to the(E) water. just as to the11. A



recent study has found that within the past few years, many doctors

had elected early retirement rather than face the threats of lawsuits

and the rising costs of malpractice insurance.(A) had elected early

retirement rather than face(B) had elected early retirement instead of

facing(C) have elected retiring early instead of facing(D) have

elected to retire early rather than facing(E) have elected to retire early

rather than face12. Architects and stonemasons, huge palace and

temple clusters were built by the Maya without benefit of the wheel

or animal transport.(A) huge palace and temple clusters were built by

the Maya without benefit of the wheel or animal transport(B)

without the benefits of animal transport or the wheel, huge palace

and temple clusters were built by the Maya(C) the Maya built huge

palace and temple clusters without the benefit of animal transport or

the wheel(D) there were built, without the benefit of the wheel or

animal transport, huge palace and temple clusters by the Maya(E)

were the Maya who, without the benefit of the wheel or animal

transport, built huge palace and temple clusters13. In astronomy the

term “red shift” denotes the extent to which light from a distant

galaxy has been shifted toward the red, or long-wave, end of the light

spectrum by the rapid motion of the galaxy away from the Earth.(A)

to which light from a distant galaxy has been shifted(B) to which light

from a distant galaxy has shifted(C) that light from a distant galaxy

has been shifted(D) of light from a distant galaxy shifting(E) of the

shift of light from a distant galaxy 100Test 下载频道开通，各类考
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